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QUESTION 1

Which two can be a part of a pool\\'s definition? (Choose two.) 

A. rule(s) 

B. profile(s) 

C. monitor(s) 

D. persistence type 

E. load-balancing mode 

Correct Answer: CE 

 

QUESTION 2

Which IP address will the client address be changed to when SNAT automap is specified within a Virtual Server
configuration? 

A. The floating self IP address on the VLAN where the packet leaves the system. 

B. The floating self IP address on the VLAN where the packet arrives on the system. 

C. It will alternate between the floating and non-floating self IP address on the VLAN where the packet leaves the
system so that port exhaustion is avoided. 

D. It will alternate between the floating and non-floating self IP address on the VLAN where the packet arrives on the
system so that port exhaustion is avoided. 

Correct Answer: A 

 

QUESTION 3

Where is connection mirroring configured? 

A. It an option within a TCP profile. 

B. It is an optional feature of each pool. 

C. It is not configured; it is default behavior. 

D. It is an optional feature of each virtual server. 

Correct Answer: D 

 

QUESTION 4
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The current status of a given pool member is unknown. Which condition could explain that state? 

A. The member has no monitor assigned to it. 

B. The member has a monitor assigned to it and the most recent monitor was successful. 

C. The member has a monitor assigned to it and the monitor did not succeed during the most recent timeout period. 

D. The member\\'s node has a monitor assigned to it and the monitor did not succeed during the most recent timeout
period. 

Correct Answer: A 

 

QUESTION 5

A virtual server is defined per the charts. The last five client connections were to members C, D, A, B, B. Given the
conditions shown in the above graphic, if a client with IP address 205.12.45.52 opens a connection to the virtual server,
which member will be used for the connection? 

A. 172.16.20.1:80 

B. 172.16.20.2:80 

C. 172.16.20.3:80 

D. 172.16.20.4:80 

E. 172.16.20.5:80 

Correct Answer: D 
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